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Btz | mErA | EIUE | sng ML | wErA | SIUE ) s KBz | mErA | EIUE | g
1 EHH 7.89 8,152 1 EIGE 8.11 2,208 1 FHH 10.11 5,029
2 G 7.65 4187 2 ZAEETH 6.82 3,756 2 =t 7.19 1,979
3 FER 5.88 2,058 3 FHH 5.82 3,123 3 {FEHT 6.77 1177
4 EAEETh 5.79 6,339 4 FEH] 5.01 881 4 J\Eth 6.05 2,071
5 J\iEh 5.41 3,845 5 &)1 ET 4.95 369 5 SCHEH 6.00 2,748
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gk | wEra | BE | s iEkr | wEre | E | s iEer | wEra | BE | s
1 75 )| BT 6.24 550 1 =G 3.47 713 1 75 )BT 11.71 391
2 FHREth 5.41 3,583 2 &) ET 2.90 159 2 FHETH 11.33 2,939
3 =t 5.27 1,824 3 FHRTH 1.60 644 3 J\#ith 9.08 1,528
4 J\#Eh 3.77 1,659 4 J\#Eth 0.48 131 4 Sth 7.92 1,111
5 EAEETh 2.19 1,494 5 EAET 0.24 97 5 B 6.34 637
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Btz | ETE | BOE | g KBz | ETE | BOE | g WEhr | wErA | BDE | g
1 RERH[ -11.14 -337 1 NEES T -8.53 -487 1 REARH [ -13.97 -216
2 /NEEETHT -885| -1,044 2 REARH -8.19 -121 2 INEEETHT -9.16 -557
3 LENHET —6.22 —695 3 5 B T —6.06 -282 3 LENHET —6.44 -360
4 =Eadil -6.13 -586 4 EEAHHET -6.01 -335 4 RigET -6.22 -226
5 RIFHHT -5.77 —401 5 JE LLIET -5.68 -385 5 =Eadil -6.19 -304
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gt | wErA | RO | g IBz | wETA | BOE | g B | wErA | BOE | g
1 8 LLI BT -11.97 -923 1 B LLI BT -14.70 -677 1 BEARH -8.68 -58
2 RERRA -9.43 -150 2 INEEEFRT[ -10.76 -431 2 B LI BT -7.92 -246
3 LEHHET -9.27 —631 3 LENDE|]  -10.58 -425 3 LEHHHET -7.39 -206
4 E = LUHET -8.42 | -1584 4 JI ST -10.32 -743 4 E = LT -7.18 -580
5 JI| S HET -8.38 -997 5 B EPHT -10.15 -327 5 = L ET -6.34 -260




